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24500003408000432762014682 | [EFEHMF | 34082719k 1329 [{RFIH (—) =% | FEHE Rk 7 Bt 0
24500003408000432762014683 | H /=% | 34082719k 1343 [ FIT (—) =% | EH R 67 R 67
24500003408000432762014684 | B ENT | 45088119%kk%xx5328 [ EIT (——) =%| F#FER 75.5 e 72
24500003408000432762014685 | FKil% | 52212119kkkkkk5624 [ FIH (—) =% | EHE R 82.5 IEH %R 81
24500003408000432762014686 | [z | 34082719k 1329 [{RF I (—) =% | FEHEFik 70 1EH# il 61
24500003408000432762014687 | 5 a3 | 34082719%kkxxx1345 | R H I (—) =| EHER 67 IEH % 64
24500003408000432762014688 | ¥ 75k | 34282719%kkxxx0529 [ EIT (——) =%| IFHER 71.5 e 0
24500003408000432762014689 | 45 | 3428271%kkkkkk0526 (R FIT (—) =% | EHEF R 78 1B 5l 7
24500003408000432762014690 |  #%WF | 34082719%kkkx0323 [ FH I (—) =% | FEH ik 66. 5 1B 60
24500003408000432762014691 | TN | 34082719%xxxxx0320 [{REFIF (—) =2%| IE#FER 77.5 1B 5 67
24500003408000432762014692 |  VELE | 34082719k 1320 [{RFIH (—) =% | FEHE Rk 84.5 IEHEE R 77
24500003408000432762014693 | XI/NET | 3428271%kkkxxx0528 [REIH (—) =% | EHER 66 1B 5 56
24500003408000432762014694 | %= | 522401 19%kkxx7080 [ HIT (—) =% | EHF ik 81 1EH# R 60
24500003408000432762014695 | [E4AE | 34082719k 1029 [{RFIH (—) =% | EHE R 60 1EH# il 31
24500003408000432762014696 | FE/ME | 340827191029 [ R HIT (——) =Z%| EWFER 80 1EH# il 80
24500003408000432762014697 | 7k & | 34082719%kkxxx1023 [ HIT (—) =%| IEwEik 85. 5 IEH % 66
24500003408000432762014698 | FEE4N | 1409311950024 [ FIT (—) =% | FHFE Rk 84 1E 255 81
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24500003408000432762014702 | {5 ZEFS | 34082719k 1049 [{RFIH (—) =%/ | FEHEE R 85.5 IEHEE R 67
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24500003408000432762014712 | ZEFEES | 342827197327 [ FIH (—) =%/ | FHE R 25 1EH# 5l 64
24500003408000432762014713 | FEBEH] | 34082719k 7126 [REIH (—) =% | EHER 78.5 1B 5 60
24500003408000432762014714 | X122 | 34282719%kkx3x6725 |{EH I (—) =] E#H%R 79 IEH 3 67
24500003408000432762014715 | 1839555 | 34082719kkkkkk692X [ R FIT (—) =% | EHER 62 IEH %R 60




24500003408000432762014716 | #HZFMF | 34282719wkkkick6724 | {RHIT (——) =% | EHHER 85 1B 35
24500003408000432762014717 | AL | 34220119%kkkxx7524 [ H T (—) = | FExEit 81 1B 5 60
24500003408000432762014718 | E/NgE | 34282719%kkkkkx5620 [ R F I (—) =% | EHFEik 70 1EH# 5l 31
24500003408000432762014719 | 25 FS | 3428271 %kkkekik6727 (R FIT (—) =% | EHEER 65.5 R 0
24500003408000432762014720 | F4= | 34282719%kkxxx7147 | B (—) = EHER 70 IEH 3 35
24500003408000432762014721 | F#ifizs | 340827197141 [{RFIT (—) =% | EHEE R 78.5 1EH# il 27
24500003408000432762014722 | EAIKF | 34282719kt 714X [ HIT (——) =2k R 0 Bt 36
24500003408000432762014723 | Bt | 34282719kkkkxx7145 [ HIH (—) =% | FHFE Rk 67.5 e 0
24500003408000432762014724 | 375 | 34082719%kkk6042 [ R HIT (——) =K | FEx ik 69 R 0
24500003408000432762014725 | HIELT | 3408271 %kkkekkk7125 [{RFIT (—) =% | EHEF R 63 1B 5l 35
24500003408000432762014726 | H#1E | 34082719%kkkx7128 [ FH I (—) =% | FEx ik 66 1EH 61
24500003408000432762014727 | #EE | 34082719%kkxxx5425 | H I (—) =| FEHER 52.5 IEH %R 38
24500003408000432762014728 | J3 =75 | 340827195424 [{RFIH (—) =% | FEHEE R 84.5 IEHE# R 70
24500003408000432762014729 | #HIGHk | 342827195429 (R FIF (——) =Z%| EHER 74 R 0
24500003408000432762014730 | #HXEE | 34082719kkkkxx5425 [ FIT (—) =% | EHF ik 67.5 EHER 40
24500003408000432762014731 | # R | 3408271%kkkkkk5423 [ FIH (—) =% | EHEE R 74.5 IEH# R 35
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